1. /1T 42CrMo 4V, @ 14.5 mm

HSS#3L, typeN
Guhring no. 651 (§)

vc =25 m/min

f=0.25 mm/rev.

+Rmax =131.8 ym

-Rmax = -49.1 ym

SEBRD = 14.566 mm

dRmax = 103.5 pm

AV =49.2 um

Ra=2.6 ym, Rz =6.8 ym IT 12
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RT#:3k, type RT 80
Guhring no. 1171 (§)

vc = 70 m/min

f =0.25 mm/rev.

+Rmax = 42.7 ym

-Rmax =-29.6 pm

SCFRD = 14.515 mm

dRmax =12.9 ym

AV = 35.3 ym

Ra=1.4 um, Rz=4.31 ym IT
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2. JIT GGG 40, @ 10.0 mm

HSsth3L, type N
Gubhring no. 651 (§)
vc = 30 m/min
f=0.2 mm/rev.
SEBRD = 10.077 mm
+Rmax =106 pm
-Rmax = -28 ym
dRmax =42 ym

AV = 68.5 pm

Ra=3.7 ym, Rz=17.2 ym IT 12
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RT£53%, type RT 100

Guhring no. 1181(g)

vc =90 m/min

f=0.3 mm/rev.

SEBRD = 10.027 mm

+Rmax = 34 ym

-Rmax =-9.2 ym

dRmax = 6.5 pm

AV =22.5 um
Ra=2.2pm,Rz=11.5pm IT
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RT3k, type RT 100
Guhring no. 1181 (§)

vc =70 m/min

f=0.25 mm/rev.

+Rmax = 26.7 ym

-Rmax =-17.2 ym

SCBRD = 14.509 mm

dRmax = 5.2 ym

AV =22.8 ym

Ra =1.04 pm, Rz = 3.2 um IT 8
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RT3k, type RT 150 GG

Guhring no. 768 ()

vc = 130 m/min

f=0.2 mm/rev.

SEBR D = 9.994 mm

+Rmax =11.5 pm+Rmax =11.5pum
-Rmax =-18 ym

dRmax =5 pm

AV =14 pm

Ra=1.99 pm, Rz=11.2 pm IT 8
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